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BRI ATIE ERIEAE X A Ik 7 AR AR 2 1412
R A ATE BRIEAEIX A Ik A £ 1 736
BRI A1 IE ERHEAE X T Ik T AR R 1 696
R A ATE BRIEAE X i Ik A £ 1 696
BRI R IE R X B Ik T AR R 1 736
R A ATE BRAEAEIX L7 Ik T £ 1 676
BRI R IE ERIEAE X o kT AR R 1 736
R A ATE BRIEAE X R Ik A £ 2 1180
PR R IE ERIEAE X L Ik iy AR R 1 636
R A ATE BRIEAE X F Ik A £ 1 636
BRI ATIE ERIEAE X fir™* kT AR 1 636
R A ATE BRIEAEIX 5K* Ik A £ 1 636
BRI A1 IE ERIEAE X B Ik T AR R 1 636
R A ATE BRIEAE X A Ik A £ 1 676
BRI R IE R X ol Ik T AR R 1 676
R A ATE BRAEAE X 5 Ik T £ 3 2008
BRI R IE ERIEAE X i Ik T AR R 1 460
R A ATE BRIEAE X i Ik A £ 1 636
PR R IE ERIEAE X = ki AR R 1 528
R A ATE BRIEAE X R Ik A £ 1 636
BRI ATIE ERIEAE X b4 Ik 7 AR AR 1 636
R A ATE BRIEAEIX P Ik A £ 1 636
BRI A1 IE ERIEAE X T Ik T AR R 1 636
R A ATE BRIEAE X - Ik A £ 2 800
BRI R IE R X i Ik T AR R 1 636
R A ATE BRAEAE X T Ik T £ 1 636
BRI R IE ERIEAE X B Ik T AR R 1 636
R A ATE BRIEAE X K Ik T 1 636
PR R IE ERIEAE X = ki AR 1 636
R A ATE BRIEAE X B Ik A £ 1 636
BRI ATIE ERIEAE X £ Ik iy AR 1 636
R A ATE BRIEAEIX ™ Ik A £ 1 676
BRI A1 IE ERIEAE X £ Ik T AR R 3 2008
R A ATE BRIEAE X 5K* Ik A £ 1 676
BRI R IE ERBT A X ™ Ik T AR R 1 696
R A AT PR £ X L7 Ik T £ 1 676
BRI R IE ERHT AL X 7 Ik T AR R 1 736
R A ATE PR £ X A Ik A £ 1 696
PR R IE PR X B ki AR R 1 696
R A ATE PR £ X F Ik A £ 1 636
BRI ATIE PR X X1 ki AR 1 636
R A ATE PR £ X 3 Ik A £ 1 636
BRI A1 IE ERHT AL X B Ik T AR R 1 636
R A ATE PR £ X £ Ik A £ 1 636
BRI R IE ERHTAE X = Ik T AR R 3 2008
R A AT PR £ X fifg ™ Ik T £ 1 636
BRI R IE PR X = kT AR R 2 1372
R A ATE PR £ X F Ik T £ 1 336
PR R IE ERHT AL X R ki AR 1 636
R A ATE PR £ X i Ik A 1 636
BRI ATIE PR X " Ik iy AR 1 636
R A ATE PR £ X F Ik A £ 1 636
BRI A1 IE ERHT AL X H* Ik T AR R 2 1272
R A ATE PR £ X L7 Ik A £ 1 636
BRI R IE ERHTAE X ™ Ik T AR R 1 736
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R A ATE PR £ X i Ik A £ 1 636
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R A ATE PR £ X e Ik A £ 1 636
BRI A1 IE ERHT AL X ol Ik T AR AR 2 1372
R A ATE PR £ X i Ik A £ 1 636
BRI R IE ERHTAE X = Ik T AR R 1 636
R A ATE ok X o Ik T £ 1 696
BRI R IE i an FE™ kT AR R 1 696
R A ATE R AL X w Ik T £ 1 736
PR R IE BT AL X i kT AR R 1 676
R A ATE R AL IX £ Ik A £ 1 736
BRI ATIE BT AL X £ Ik i AR 1 736
R A ATE R AL X 1S Ik A 1 736
BRI A1 IE B AE X E Ik T AR R 2 1152
R A ATE R AL X i Ik A £ 1 736
BRI R IE s i Ik T AR R 1 736
R A ATE ok X B Ik T £ 1 736
BRI R IE BT AE X i kT AR R 1 736
R A ATE R AL X 5K* Ik A £ 1 736
PR R IE BT AL X ™ ki AR R 1 736
R A ATE R AL IX £ Ik A £ 1 636
BRI ATIE BT AL X F Ik 7 AR AR 1 636
R A ATE R AL X =M Ik A 1 636
BRI A1 IE o X 7 Ik T AR R 1 636
R A ATE R AL X a* Ik A £ 1 636
BRI R IE o X K™ Ik T AR R 1 636
R A AT ok X = Ik T £ 1 636
BRI R IE BT AE X i kT AR R 1 636
R A ATE R AL X Eol Ik T £ 1 636
PR R IE BT AL X X1 ki AR R 1 676
R A ATE R AL IX 2 Ik A £ 1 636
BRI ATIE OB AL X W Ik 7 AR AR 1 636
R A ATE R AL X 7 Ik A £ 1 636
BRI A1 IE B AL X 1w Ik T AR R 1 636
R A ATE R AL X F Ik A £ 1 636
BRI R IE o X S Ik T AR R 1 676
R A AT ok X P Ik T £ 1 676
BRI R IE X = kT AR R 1 636
R A ATE R AL X = Ik A £ 1 596
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BR A ATIE BT AL X i Ik 7 AR AR 1 636
R A ATE PR AL X A Ik A £ 1 636
BRI A1 IE o X ol Ik T AR R 1 636
R A ATE R AL X [ Ik A £ 1 636
BRI R IE ot X fo** Ik T AR R 1 636
R A AT ok X F Ik T £ 3 2008
BRI A IE Ei Lk kT AR R 1 636
R A ATE KA X L7 Ik T £ 2 634
PR R IE KA X £ kT AR R 1 736
R A ATE KA X =l Ik A £ 1 736
BRI ATIE KA X 17 Ik i AR 1 736
R A ATE KA X R Ik A £ 1 736
BRI A1 IE KA X R Ik T AR R 1 736
R A ATE KA X £ Ik A £ 1 736
BRI R IE RIEAE X 3 Ik T AR R 1 736
R A ATE KA X ik Ik T £ 1 676
BRI R IE KA X i Ik T AR R 1 676
R A ATE KA X W Ik T 1 736




PR R IE KA X +* Ik i AR R 1 736
R A ATE KA X 5K* Ik A £ 1 736
BRI ATIE KA X B ki AR 1 736
R A ATE KA X " Ik A £ 1 636
BRI A1 IE KA X K™ Ik T AR AR 1 636
R A ATE KIEA X 5K* Ik A £ 1 636
BRI R IE RIEAE X e Ik T AR R 1 636
R A ATE KA X B Ik T £ 1 636
BRI R IE KA X ik kT AR R 2 1372
R A ATE KA X fir* Ik T £ 1 636
PR R IE KA X W kT AR R 1 636
R A ATE KA X F Ik A £ 1 636
BRI ATIE KA X (i Ik i AR 1 636
R A ATE KA X i Ik A 1 636
BRI A1 IE KA X 5K* Ik T AR R 2 1372
R A ATE KIEA X JH Ik A £ 1 636
BRI R IE RIEAE X A1 Ik T AR R 1 636
R A ATE KA X T Ik T £ 1 636
BRI R IE KA X * kT AR R 2 1312
R A ATE KA X B Ik A £ 1 676
PR R IE KA X K™ ki AR R 1 636
R A ATE KA X F Ik A £ 1 636
BRI ATIE KA X B Ik 7 AR AR 2 1372
R A ATE KA X B Ik A 1 636
BRI A1 IE KA X ™ Ik T AR R 1 636
R A ATE KA X 7 Ik A £ 1 636
BRI R IE RIEAE X £* Ik T AR R 1 636
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R A ATE KA X 17N Ik T £ 2 1272
PR R IE KA X i ki AR R 1 636
R A ATE KA X 5K* Ik A £ 1 636
BRI ATIE KA X A Ik 7 AR AR 1 676
R A ATE HEDEAEIX i Ik A £ 1 736
BRI A1 IE HEPEAEIX X1 Ik T AR R 2 1472
R A ATE HEPEAEIX [ Ik A £ 2 1412
BRI R IE XA X ™ Ik T AR R 1 736
R A AT AR IX B Ik T £ 1 676
BRI R IE HEPEAEIX X kT AR R 1 736
R A ATE HEPEAE X A1 Ik A £ 1 736
PR R IE HEPEAEIX 5K* ki AR R 1 676
R A ATE HEPEAE X =" Ik A £ 1 696
BR A ATIE HEPEALIX P Ik 7 AR AR 1 736
R A ATE HEDEAE X 5K* Ik A £ 1 676
BRI A1 IE HEPEAEIX 5" Ik T AR R 1 676
R A ATE HEPEAEIX R Ik A £ 1 736
BRI R IE A X CiS Ik T AR R 1 736
R A AT AR IX R Ik T £ 1 736
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R A ATE HEDEAE X B Ik T £ 1 636
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R A ATE HEPEAEIX s Ik A £ 1 636
BRI ATIE DAL X e Ik i AR 1 636
R A ATE HEPEAEIX £ Ik A £ 1 636
BRI A1 IE HEPEAEIX i Ik T AR R 1 636
R A ATE HEDEAEIX K™ Ik A £ 1 636
BRI R IE XA X Fall Ik T AR R 1 636
R A ATE AR X T Ik T £ 1 636
BRI R IE HEPEAEIX i Ik T AR R 1 636
R A ATE HEPEAEIX i Ik T 3 2048




PR R IE HEPEAEIX T Ik i AR R 1 636
R A ATE HEPEAEIX H Ik A £ 1 636
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R A ATE PAtERE X L Ik T £ 1 676
PR R IE AL [X L7 kT AR R 1 437
R A ATE PALEAE X F Ik A £ 1 676
BRI ATIE PAHEAE X B Ik i AR 1 676
R A ATE PALERE X F Ik A 1 736
BRI A1 IE AL X 2" Ik T AR R 1 736
R A ATE PALERE X 7 Ik A £ 1 696
BRI R IE PAHEAE X i Ik T AR R 1 636
R A ATE PAtERE X K Ik T £ 1 114
BRI R IE AL X L7 kT AR R 1 636
R A ATE PAtERE X R Ik A £ 1 636
PR R IE PAHEAE X +£* ki AR R 2 672
R A ATE PALEAE X 5" Ik A £ 1 636
BRI ATIE PAHEAE X 171 Ik 7 AR AR 1 636
R A ATE PALERE X Ei Ik A 1 636
BRI A1 IE PAHEAE X fir** Ik T AR R 1 636
R A ATE PALERE X B Ik A £ 1 676
BRI R IE PAHEAE X £ Ik T AR R 2 1372
R A AT PAtERE X il Ik T £ 2 1372
BRI R IE AL X F kT AR R 1 636
R A ATE PAtERE X T Ik T £ 1 636
PR R IE AL X K™ ki AR R 2 1372
R A ATE PALEAE X 5 Ik A £ 1 636
BRI ATIE PAHEAE X L Ik 7 AR AR 2 1272
R A ATE PALERE X L7 Ik A £ 2 1372
BRI A1 IE AL X T Ik T AR R 3 984
R A ATE ARIEALIX i Ik A £ 2 1232
BRI R IE ARIEAEX e Ik T AR R 1 736
R A AT ARIEAEX i Ik T £ 1 736
BRI R IE ZRIEEX B kT AR R 1 736
R A ATE ARIEAEIX F Ik A £ 1 736
PR R IE ARIEAEX = ki AR R 1 736
R A ATE ARIEALIX ™ Ik A £ 1 676
BR A ATIE ZRIE X £ Ik 7 AR AR 1 636
R A ATE ARIEAEIX B Ik A £ 1 636
BRI A1 IE ZRIEEX L Ik T AR R 1 636
R A ATE ARIEALIX £ Ik A £ 2 1272
BRI R IE ARIEAEX i Ik T AR R 1 676
R A AT ARIEAEX B Ik T £ 1 636
BRI A IE ZRIEEIX i kT AR R 1 636
R A ATE 5 EAA X 1S Ik T £ 1 676
PR R IE O EE X 17 kT AR R 1 736
R A ATE o EAH X i Ik A £ 1 696
BRI ATIE o FE X B Ik i AR 1 736
R A ATE o EAH X A Ik A £ 1 736
BRI A1 IE X i Ik T AR R 1 696
R A ATE 0 EAAX fiT* Ik A £ 1 636
BRI R IE O FE X A Ik T AR R 1 676
R A ATE 5 EAHEX i Ik T £ 1 636
BRI R IE o FEEHX H Ik T AR R 1 636
R A ATE 5 EAHX A Ik T 2 1372




PR R IE O EEHX b Ik i AR R 1 636
R A ATE o EAA X 2 Ik A £ 2 1088
BRI ATIE o FE X il ki AR 1 636
R A ATE o EAA X " Ik A £ 1 636
BRI A1 IE X R Ik T AR AR 1 636
R A ATE AR X H”** Ik A £ 1 736
BRI R IE e X B Ik T AR R 2 516
R A ATE AR X B Ik T £ 1 736
BRI R IE A X " kT AR R 2 1282
R A ATE AR X A Ik T £ 2 1412
PR R IE AL X i kT AR R 1 676
R A ATE AR X B Ik A £ 2 1472
BRI ATIE A X = Ik i AR 2 1392
R A ATE AR X g Ik A 1 736
BRI A1 IE A X il Ik T AR R 1 676
R A ATE AR X i Ik A £ 1 736
BRI R IE A X L7 Ik T AR R 1 676
R A ATE AR X i Ik T £ 1 696
BRI R IE A X = kT AR R 1 676
R A ATE AR X £ Ik A £ 1 636
PR R IE A X Z= ki AR R 1 636
R A ATE AR X fi™ Ik A £ 1 636
BRI ATIE AL X B Ik 7 AR AR 1 636
R A ATE AR X 5K* Ik A 1 636
BRI A1 IE A X 5K Ik T AR R 1 696
R A ATE AR X Z= Ik A £ 1 636
BRI R IE A X fo** Ik T AR R 1 636
R A AT AR X I Ik T £ 1 636
BRI R IE A X i kT AR R 2 1288
R A ATE AR X L7 Ik T £ 2 1272
PR R IE A X JH™ ki AR R 1 636
R A ATE AR X £ Ik A £ 1 636
BRI ATIE AL X X Ik 7 AR AR 1 636
R A ATE AR X fig* Ik A £ 1 636
BRI A1 IE A X fir** Ik T AR R 1 636
R A ATE AR X [/ Ik A £ 1 636
BRI R IE A X X Ik T AR R 1 636
R A AT AR X e Ik T £ 1 636
BRI R IE A X il kT AR R 1 636
R A ATE AR X E Ik A £ 2 1372
PR R IE A X 0" ki AR R 2 1372
R A ATE AR X F Ik A £ 1 436
BR A ATIE PERAL X " Ik 7 AR AR 2 1412
R A ATE PABRALIX =N Ik A £ 2 1372
BRI A1 IE PERAL X A5 Ik T AR R 3 1968
R A ATE PRt X 5K* Ik A £ 1 636
BRI R IE PERAL X b4 Ik T AR R 1 636
R A AT PABRALIX L7 Ik T £ 2 1372
BRI A IE AL X T kT AR R 1 636
R A ATE PRt X 7 Ik T £ 1 636
PR R IE kAL X i kT AR R 1 636
R A ATE PRt X fi™ Ik A £ 2 1312
BRI ATIE BRAL X X Ik i AR 2 712
R A ATE PABRALIX e Ik A £ 3 2008
BRI A1 IE PERAL X iz Ik T AR R 3 1798
R A ATE PRAL X A Ik A £ 2 1012
PR R IE PERAL X A Ik T AR R 1 676




